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(English Version)

Instructions

) First 15 minutes are allotted for examinees to read this question paper.
) Al questions are compulsory.
(i) There are two parts of this question paper.

(tv)  In Part - A there are 20 questions of multiple choice of 20 marks. The answer of
these questions are to be given on OMR Sheet.

() Do not cross the answer of these questions on given OMR Sheet and also do not
use craser or whitener on the sheet.

(vt)  In Part - B there are short answer type.ox tllustrative questions of 50 marks.

[ SWR 2

(vit)  There are five questions in Part - B.

(viii) In the beginning of each question, it has been clearly mentioned that how many
parts of it are to be attempted. |

(ix) Marks allotted to each question are mentioned against it.

(x)  Start from the first question and go up to the last question. Do not waste your
time on the question you cannot solve.

Part-A

Multiple Choice Questions :

1. Discriminant of the quadratic equation 3x2 — 6x + 4 = 0 will be :
(4) 13 (B) 12 () 36 - D) - 12

2.  Solution of equations 3x + 2y =6 andy = O will be :
(A 2,0 (B) 0,2 © 3,0 D) 0,3
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10.

11.

822 (22) | 7

a ). . :
If C [—é, 4) is the mid-point of line joining the points A(— 4, 2) and B(5, 6), then

value of o will be : 1

(A) -8 (B) 4 © -4 (D) 2

If AB =643 em, AC = 12 cm and BC - 6 cm in the A ABC, then value of £ B will
be : ‘
: 1

S (B) 60° © 1200 (D) 45°

The biggest number which dividéé—_ﬁ:f) and 70, and gives remainder 8 and 5

respectively will be : : 1
(A) 15 (B) 13 (c) 17 - (D) 14
If one root of the equation x2 + kx — 6 = 0 is — 2, then value of k will be 1

(A) 4 (B) 1 ) -1 (D) 3

If the length of diagonals of a rhombus are 12 cm and 16 cm, then the length of

the side of rhombus will be : s 1
(A) 20 cm (B) 10 cm (C) 9cm (D) 8cm
If sin 8= cos 6 0°< 6 <90° then value of fis: 1
(A) 60° (B) 45° (C) 30° (D) 0°
The sum of powers of prime factors of the number 144 will be : 1
(A) 5 (B) 4 (C) 6 (D) 3
The distance of the point (- 3, 5) from y-axis will be : 1
(A) -3 (B) 2 (C) 5 (D) -5
Value of S22 will be: I

cos 75°
(A) 1 (B) 0 (C) 2 D) -1

P.T.O.



20 The mean af 1 following tohle will be . o
i Clase ttervad | () Wy {1 20120 M0 m] -Al) 4” - )

' Fregquoney i f b - 4 _ l .
(A 21 () 20 () %0 (D) 194
1. Wieot e 4, then vilue of conoe 11 wifl ho
(A) f (1) ‘ () E (Dj o
) fs 4

14.  If ratio of volumes of Ltwo sphoeroes iy 27 - f},‘i then ratio of their surface aress will be :

(A 9:16 (B) 16: 9 (©)% 4 ) 45

16, If mode and mean of some observations are 45 and 27 respectively, then median
will be :
(A) 34 (B) 33 (C) 82 (D) 40

168.  The roots of the equation % ~ 2x + 1 = 0 will be :

Ay 1,1 (B) 1,-1
(C) 2 -2 (D) 2,2

]

17.  If arithmetic mean of 7, 13, 20, 17 and 3 s 18, thenthe value of x will be :

(A) 20 (B) 15 (C) 11 (D) 9
18.  The solution of the equation % -2%= %, will be :
@A) +-L (B) +1 © 0,2 D &1
7 2

19. If ratio of sides of two similar triangles is 4 : 7, then ratio of their arcas will be :
(A) 4:7 (B) 16: 49
() 49:16 (D) 64 : 243

20, If arca and perimeter of a circle are numerieally same, then radius of that circle
will be ;
(A} 7 units (B) 4 units
(C) 7 units (D) 2 units

822 (22) 8



Part - B

21, Attempt all parts

(2)  Prove than v2 is not a rationg] number. 2
B InAPQR, 2 Q=90 iftan p = 13: , then find the value of
v

sin Pcos R + cos Psin R, } 2

(c)  Find the roots of quadratic equatiﬁn 4x2 + 3x +5=0. 2
. ,

(d)  Find the length of a line segment joining the points A(2, - 2) and B(3, 7). 2
(e) If a copper rod whose diameter is 1 cm and length 8 cm is melted and

recasted into andther rod whose length is 18 em, then find the width of the

rod. 2

(f  Find the mean of the following table : ,

" - J”- 1 _
fClass Interval | 10 -25 | 25 —40!4{) ~-5555-70|70-85] 85— 100 ‘

3f'7.6616=\

| Frequency 2

22, Attempt any five parts from the following :

(a) Do the equations x + 2y — 4 = 0 and 2t + 4y - 12 = 0 represent two rail

lines ? Express this by geometrical met.hbd. 4
(b) The ratio of income of two personsis 9: 7 and ratio of their expenditure is
4 : 3. If each of them save & 2,000 per month, then find their monthly
income. 4
(¢}  Prove that the points (8, 2), (- 2, - 3) and (2, 8) are vertices of n right angled
triangle, 4
P.T.O.
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(d)  In the figure OA , OB = OC . OD, then prove thet, A=/Cand/BesD. 4

(.,'
A
()
B

()  The angle of elevation of the top o 10 m high building from a point P on

the ground is 30°. There is a flag on the top of the building, The angle of
elevation of the top of the flag from P g 45°, Then find the length of the

flagpole and distance of point P from the building. 4
(f)  If median of the following data is 525 and sum of frequencies is 100, then
find values of x and y. 4
Class Interval | Frequency
0 - 100 . 2
100 - 200 5
200 — 300 & ]
300 - 400 12
400 - 500 17
500 - 600 20
600 - 700 y
700 ~ 800 9
800 - 900 T
900 ~ 1000 4

23. There is a frustum of a cone whose height is 45 cm. If the radii of its ends are

28 cm and 7 cm, find its volume, curved gyurface area and total surface area.

(Use n= g2—} : 6
7
OR
Find the area of a sector whose angle 18 30° of a circle whaso radiug is ¢ em, Also
find the area of the corresponding major sector, 8

822 (22) 10



24, Divide a 10 em line segment in the pgyio 3 2

OR

If BL and CM are medinns of o right (rinngle ABC whose £ A = 90°, then prove

that : 4(BL2 + CM2) = b BC2, f

25.  Find the values of ¥ and y from the fo]),wing equations : 6
3 |
0 4 _jo; 20 .56 .3,
xX—3y x+y X=y x1y"

OR

If 1 is subtracted from the numerator ofg fraction, then it becomes % and if 8 is

¢ _
added to its denominator, then it becomeg % _Find that fraction.
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